&N SEL/ F A @4 R

MGZR %7

020, 025, 032, 340, 050, 563, 080

MSRTHE
MGZR| 40| |[Z2|-100-M9BW| |-

lﬂﬂﬂﬁ
ﬁﬁf@% F#LP.439,
REER BT A%
| N
e RAE
EhS e . %ee] 2h
L WA ARER i —
F FE=R 0
G FATE 2 A n il
D WE R =
* SHEMFF X MALS
) [Ziee | EmtFX(ABERR) |
fize B AR MR ME SR TR R,
e o B AR
A] [ ]
25 | 2omm Do ¢S ¢5H2(mm)
32 | 32mm Fine M5x0.8 020 RS NP 430
20 | 40mm LS Ro 295 RETTIERS IP.439,
50 | 50mm N NPT | 032 o BRI
63 | 63mm 040
80 | 80mm TE G 050 Lz [ 5 |
063
280
EAREMETE I/ mi 77 3¢ 5 (R SRS 0 —P.1719~1827,
i o REBE BT XS SLKEm) .
, sy |1 X 47
FiES HERRTRE Sl E S T ) 05 | 1]3]5s Bl san#
1t 17 DC AC HEsIE | HEESIH Fe2) M| O | @ Bk
3% (NPN) MONV | MON | @ (@ |[®@|O| O
_ 3%,(PNP) sv.12v MOPV | MoP | @ (@ e | O O |CFH
z 2% 12V MOBV | M9B | @ |® | ®|O| O | —
= 3%(NPN) MONWV | MONW | © (@ |®@ | O | O )
# | pwereess |mmwes|s] smENe) | 2av [PV _ vepwv| MoPw | @ [@ e | O O |'CE# %ffé
‘;% 2% 12V MOBWV| MOBW | @ (@ [@[O| O | —
x 3%,(NPN) SV 12y MONAV | MONA | O [O @[O0 [ o
kMR (26 BR) 3%(PNP) : MOPAV | MOPA | O (O | @ | O] O
2% 12V MOBAV | M9BA | O |O |@|O| O | —
3%
— \ — — | — |1 —
%%ﬁm B g || NP 5 A%V | A% | @ ° Cmk
g,ﬁ‘ =R ot sy | 1oy | 100V | A3V | As3 | @ o | — | — | — l|mme
% - 100viyF| A9V | A90 | @ | — | @ | — | — [icmm | PLC
KSBKEIS (1) MONW HOB S I TSR T AT R4,
() MONWM
(1) MONWL
(1) MONWZ

MER ERITHE SN, RERTITRESHMMEF X, FHP.445,
SR BRI IT R EP.1784, 1785,
HEMITXE M (REK).

438

O
2

Best Pneumatics 3 1



(¥ —-P.2002, )

[®rics | Wik / N

| -X1248 | mFismEgas

whsum wamen IGZR %5

A&
4172 (mm) 20 [ 25 [ 32 [ 40 [ 50 | 63 | 80
FEFRK BFFE A
{ERRE =5
it EiX G E S 1.5MPa
EaEREN 1.0MPa
= FETEMNHE  0.08MPa
BIERRER %fRImES 0.12MPa
. s TN RHHE —10~70C (BRAKL)
TR R R R RRE = TN g —
BT RNHE —10~60°C (EREL)
253 i
ouT 50~700mm/s
SEEEE
fERAERR IN | 50~350mms | 50~450mm/s
TREKERE ~250%° . 251~1000"*
ey HEgm
RERRK BEAR EAMER FME=R THFMWE=R NERE
e
FRAEITIER
#14Z (mm) PREFTRE (mm) K17#& (mm)
o028 75, 100, 125, 150, 175 350, 400, 450, 500
200, 250, 300 600, 700, 800
32-40-50 75, 100, 125, 150, 175 350, 400, 450, 500, 600
6380 200, 250, 300 700, 800, 900,1000
TR EESIfE. BRI, 75mml TiTFEthaE&I1E.
MGJ
=
RER (kg) MGP
#1412 (mm) 20 25 32 40 50 63 80
#Am | 048 | 070 | 1.09 | 1.91 | 303 | 483 | 8.85 MGQ
v BigER | 063 | 086 | 1.34 | 239 | 3.92 | 6.08 | 10.61
HE #2m | 059 | 083 | 132 [ 234 | 370 | 583 | a2 [pan
WEHIE | 058 | 0.83 | 1.32 | 219 | 3.47 | 5.62 | 10.66
EommTH IR E | £ A% | 019 | 022 | 029 | 039 | 059 | 078 | 1.21 | [pen
G
it E N) m
e 52 | #TE | EhiE| FEER FEFES (MPa)
= (mm) | (mm) | 5| (mmd) | 02 |03 |04 |05|06|07|08|09]|1.0
MGZ20| 2925 | |, [OUT| 726] 145] 218 | 290 363 | 436 508 | 581 58| 726 MGT
20 IN | 236| 47| 71| 94| 118 141 165] 189 | 212 236
25x30 OUT| 1085| 217 | 326 | 434 | 543 | 651 | 760 | 868 | 977 | 1085
MGZ25 — . 2 IIN [ a78| 76| 113| 151 189| 227| 265| 302| 340 378
36x32 OUT| 1621 324 | 486 | 648 | 811 | 973 | 1135 | 1297 | 1459 | 1621
MGZ32 — 16 OIN | 603 | 121 | 181 241| 202 | 362 | 422| 482| 543 | 603
45x40 OUT| 2533 507 | 760 | 1013 | 1267 | 1520 | 1773 | 2026 | 2280 | 2533
MGZ40 — 20 N[ o942 188 | 283 | 377 | 471 565| 659 | 754 | 84 | 942
MGZ50| _55%50 | o [OUT| 3848 770] 1154 | 1539 | 1924 | 2309 [ 2694 | 3078 | 3463 | 3aas
50 IN | 1473 295| 442 | 589 | 737 | 884 | 1031 | 1178 | 1326 | 1473
MGZ63| 68X63 | 4, [OUT| 5945 1189 | 1784 | 2678 | 2973 | as67 | 4162 | 4756 | 5351 | 5945
63 IN | 2313 463 | 694 | 925 | 1157 | 1388 | 1619 | 1850 | 2082 | 2313
MGzZ8o| 87<80 | ,, |OQUT| 97151943 | 2015 | 3886 | 4858 | 5829 [ egot | 7772 | 8744 | 9715
80 IN | 3770 754 | 1131 | 1508 | 1885 | 2262 | 2639 | 3016 | 3393 | 3770 D-[]
-Xtd
A5
-XO
439
4 S\NC

Best Pneumatics 3 1



MGZR %5

19iEE / MGZR

\L

3
NS

|

\(T]

—@ a—1

=)

I

L
—

T

020, 025

R EEE
Fs T HHE 7R =iE = T HHE MR HiE
1| FELS 254 B HERYE 13 | HERE WL ER
2 | THE S Hed AE Rk 14 | Epge BE g
3 | &I SEE @Rk 15 | TER Ll
4 | EER gas E R %16 | FEHEA NBR
5 | EIEF BN FRE 17 | #EHEB NBR
6 | EIEHFE B T s 18 | EETEHE NBR
7 | EE oA 4 SEEREL 19 | HEHTIHE NBR
8 | BIEiEE oA S SEEREL 20 | FIEATEREEIE NBR
9 | BEE NE G w21 | EIEEEHE NBR
10 | HIFF B4R Mg 22 | WiER —
11 | WATIRE BN iR 23 | &EFHLE &E
12 | AIARIRET RN ER
A/ T LR 1

4142 (mm) Afme Az

20 MGZ20-PS

25 MGZ25-PS

32 MGZ32-PS ERFS

40 MGZ40-PS @, 2

50 MGZ50-PS H—4A

63 MGZ63-PS

80 MGZ80-PS
MEHBEARG, DH—A, FARBRAGNSESR.
B ABISE, (020~50%10g. 063, 803420g)
REDBEENGE, BIERTRESITY,
jHiBAE AR S GR-S-010(10g). GR-S-020(20g)
440 ZS\NC

Best Pneumatics 3 1



SN R E

wh=a araen MGZR %35

BEAR

2xP
(Rc,NPT,G)

GA

GB

&
)

\ >
\ O -
\
\
MM;EM
%/9 N i
\7%\\15T<<\\ <
&)\ %L | O m %
‘ ‘
i [
LO- © =
1 1 [ N
2x4xJ
MB
KA MC MA
c NA NB
B H S+1718 hﬂGJ
2Z+5772
(mm)
iliz 7% (g clp |kalcales] H D] 4 | k| m|ma|melmc| mm |Na|ns| p | s|v|zz MGF
(mm) SEE i
20 ~800 39 | 29 25 21 |16 12.5| 20 51 | M5x0.8 11 17 11 4 10 | M8x1.25 | 19 21 M5x0.8 86| 5 106 m
25 ~800 43 | 33 30 24 |26 18 21 57 | M5x0.8 12 17 11 4 10 | M8x1.25 | 26 34 1/8 107 | 6.5| 128
32 ~1000 49 | 38 36 30 |28.5(19.5| 35 66 M6x1 22 22 16 4 12 | M10x1.5 37 1/8 120 | 8.5| 155 ‘MGT
40 ~1000 59 | 46 45 36 [34.5|23.5| 40 78 M6x1 25 30 16 4 12 M16x2 44 1/4 138 | 9.5| 178
50 ~1000 71 55 55 46 |40 28 45 92 | M8x1.25 | 25 35 16 5 15 | M20x2.5 50 1/4 150 | 12.5| 195
63 ~1000 82 | 66 68 53 |46.5|34.5| 50 | 110 | M8x1.25 | 25 85] 16 5] 15 | M20x2.5 56 1/4 171 | 15 221
80 ~1000 | 106 | 86 87 65 |54 36 50 | 144 | M12x1.75 | 25 38 20 6 23 | M22x2.5 66 3/8 198 | 20 248
el
XO
2 441
& S\VC

Best Pneumatics 3 1



MGZR %5

SMERSTE/ HREMN

HEAEER /(L)

(O =~ el
) > £ | axolDad
A\ a
aam
X
L_ 2
X X
= v LS+
Z2Z+1772
(mm)
= —
b e X Y | b | WtH | T | x| Lw |z || zz
20 ~800 16 0 6.6 22 13 58 41.5 72 86 114
25 ~800 16 0 6.6 24 14 62 45.5 5} 107 136
32 —1000 | 22 0 9 | 275 | 16 9% | 52 88 | 120 | 166
40 ~1000 | 24 | o© 9 | 54 19 | 110 | 635 | 100 | 138 | 190
50 ~1000 32 1 11 40 22 146 75.5 120 148 210
63 —1000 | 3 | 8 | 13 | 47 24 | 110 | 88 | 140 | 165 | 236
80 ~1000 | 40 3 | 17 | 59 30 | 146 | 112 | 180 | 192 | 265
> 2L N YA
HE=EL/(F) ZHME=R/(G)
G/ """"" &9 %= 3 6 (o —~0) ¢ < ]
H— €D o Léb © Z|m &
raw T
o & 5 = & Q1 |
- FT
FT ZZ+1712
FX 4xoFD LAAAAEXAAAA. =
FZ FZ 4xoFD
(mm) (mm)
= — -
ge | BE | B | FD | FT | FX | FY | FZ e | UE | B | FD | FT | FX | FY | FZ | 22
20 ~800 44 5.5 8 50 34 60 20 ~800 44 5.5 8 50 34 60 114
25 —800 | 48 | 66| 8 | 57 | 36 | 70 25 —800 | 48 | 66| 8 | 57| 36 | 70 | 136
32 ~1000 | 60 | 9 | 12 | &4 | 46 | 78 32 | -1000| 60 | 9 | 12 | o4 | 46 | 78 | 167
40 ~1000 | 74 | 9 | 12 | 80 | & | 100 40 | —1000 | 74 | 9 | 12 | 80 | 58 | 100 | 190
50 ~1000 78 9 16 100 61 125 50 ~1000 78 9 16 100 61 125 211
63 —1000 | 100 | 12 | 16 | 112 | 75 | 138 63 | —1000 | 100 | 12 | 16 | 112 | 75 | 138 | 287
80 ~1000 120 14 16 132 95 155 80 ~1000 | 120 14 16 132 95 155 264
WHIRE /(D)
K2 | [l2s
& KRR AR, O,
U 2CDh10
L
258 RR
ZZ+1712
(mm)
= =
e e L [ RR | U |CDuo|CX{i| CcZ | z | 2z
20 ~250 23 8.5 14 10 14 28 129 137.5
25 —350 | 28 | 11 | 14 | 10 | 14 | 28 | 151 | 162
32 ~600 30 12 17 14 20 40 185 197
40 ~600 30 15 17 14 20 40 208 | 223
50 ~700 42 18 26 22 30 60 237 | 255
63 ~900 | 42 | 23 | 26 | 22 | 30 | 60 | 263 | 286
80 —900 | 50 | 28 | 30 | 25 | 32 | 64 | 298 | 326
442 z
& SNC

Best Pneumatics 3 1



wh=a araen MGZR %35

EIR S E
241782 DB
DD
AN 4xoDT
ML
o
4xoDR
S (ﬁ‘rﬁ) B DA | DB | DC | DDwio | DE | DH | DL | DO | DR | DS | DT | DU | DX | Z
MB-B03 20 39 | 42 32 44 | 1073%® 62 | 33 22 9 6.6 7 15 | 10 14 | 129
- 25 43 | 42 32 44 | 107%%® 62 | 33 22 9 6.6 7 15 | 10 14 | 151
MB-BO05 32 49 | 53 43 60 | 143 81 | 45 30 | 105 | 9 8 18 | 115] 20 | 185
40 59 | 53 43 60 | 143 81 | 45 30 | 105 | 9 8 18 [ 11.5] 20 | 208
50 71 73 64 86 | 22%® | 111 | 65 45 | 125 | 11 10 | 22 | 14 30 | 237
MB-B08
63 82 | 73 64 86 | 22%® | 111 | 65 45 | 125 | 11 10 | 22 | 14 30 | 263
MB-B12 80 106 | 90 78 | 110 | 25%% [ 136 | 75 60 | 13 135 | 14 | 24 | 15 32 | 298
S B EHAE
il A | B | A%Bs90°
(mm)
A° 20 35 | 50 175
25 30 | 50 170
32:40 30 | 50 170
5063 35 | 50 175 ‘MGJ
80 30 [ 35 155 MGP
B3R S
MGQ
2xod 2 P d [ MGG
JE=1 T P
2 #s m | P L] Em e BRerns
M — &1 CD-M03 20-25 10387 | 44 | 36 | 4 3 23x18( MGC
CD-M05 32:40 |143583 |60 |51 (45| 4 04x25(
m / CD-M08 5063 [2237% |82 |72 |5 | 4 24x35(
L CDP-7A 80 253% |88 |78 |5 4 2436/ MGF
) W ORRTLE, m
e RIbE Ty MGT
BRilx M
M /
=N QQ
=] H
Q
L
B, RN H
C_|E P
R
A
(mm) |D-[]
E& = M ity | AL | 2 [ BAERNBESEIN| RE
L - A B D E F H N> LIE
£T4E s NRZ] 25 c G R [#FAREP LEU| E%H fufe | (kg) _XD
20-25 | JB40-8-125 8 [ 1.25] 51 85| 11 |31 6 11 | 11 22 | 29 13 0.75 | 6000 | 1300 | 0.15
32 JB63-10-150 | 10 [ 1.5 | 62.5] 10 13 [ 41 75| 14 [ 135 | 27 [ 355 15 1 11000 | 3100 | 0.29 [4gy
40 JB80-16-200 | 16 | 2 80.5| 16 20 |50 95| 19 |16 32 | 475 18 1.25 | 18000 | 5000 | 0.56 |-X[]
50-63 | JB100-20-250 | 20 | 2.5 [101 | 21 26 | 595|115 24 |20 41 | 59 24 2 28000 | 7900 | 1.04
80 JB140-22-250 | 22 [ 25 [129 |18 22 |79 |14 30 |22 46 | 715 38 2.5 | 54000 | 15300 | 2.6
V 443
& SVC

Best Pneumatics 3 1



MGZR %5

BT R R AT RERY S/ T AR

(mm)
BT RES MMEFFRLEE 020 025 032 040 050 063 080
24N(FE) 50 50 50
D-A90] 24N(EH) 15 15 15
14 15 15 10
24~ (Fm) 25 25 25
D-A9[IV 24N (EH) 10 10 10
14 5 5 5
24~ (Fm) 30 30 30
D-M91V 2N (FE) 10 10 10
14 5 5 5
24N(FE) 55 55 55
g:mggw 24N (RE) 15 15 15
14 15 15 10
24N(FE) 30 30 30
D-M9CIWV 2/ () 15 15 15
14 10 10 10
24~ (Fm) 60 60 60
D-M9[JA 24N(BE) 20 15 15 15
14 15 15 10
2/ (B E) 35 35 35
D-M9[JAV 24N (EE) 15 15 15
14 10 10 10
24N (EE) - 60 70
D-Z7[1/Z280 24N (M) — 20 20
14 — 20 20
24~ (Fm) — 60 65
el - = -
14 — 20 20
2/ (EmE) — 70 65
B:ESWV 2/ () — 25 20
14 - 25 20
24N (EH) - 70 75
D-Y7BAL 24N(BE) — 25 20
14 — 25 20
HEFRESHNREMBEATERGONIE) RRESE
BT
0—131 A B
S e
=
IVAN
A RESHNREME mm) TEMFERESE (mm)
TR R D-Z2701/Z BT R .
s T D-M9LI/M9LIV D-Y59DD/\8!%9D L B:QgEDVEZ’ D-M9LIV
D-A9CIV D-MOJW/M9OIWV D-Y7P/Y7PV D-Y7PV D-M9JWV
D-M9JAL/MOCJAVL D-Y7OW/Y7OWV D-M9[JAVL
D-Y7BAL 2Bl
iz A B A B A B fAKES Hs Hs
20 24 3 28 7 — — 20 25 28
25 24 3 28 7 = = 25 27 30
32 22 4 26 8 — — 32 30 33
40 24.5 25 28.5 6.5 23 0 40 28.5 31.5
50 24.5 2.5 28.5 6.5 23 0 50 38.5 415
63 33.5 25 37.5 6.5 32 0 63 44 47
80 38 5 42 9 37 4 80 56 59
) RTREFEMRE, BEWIABEME T XN ERSHER DR, YE1) S&AEE B AN A h%3ED-A9L ], MoL], Mol IW, MOLJAL, Z7[],
780, Y591 ], Y7P, Y7LIW, Y7BALE!,
$¥2) 020~ 032 AL % 2£2701,280,Y590 ], Y7P,Y7[IW,Y7BALE
444 ZS\MC

Best Pneumatics 3 1



wn=u MGZ/MGZR %75

—_ = = 3
HESE Bl B RRE S /ES
(mm)
iR N 1% (mm)
R RS y =
i 20 | 25 | 32 | 40 | 50 | 63 | 80 A 020~ 032 240~080
D-A9[I/A91V 8 9.5 8 8 8.5 9.5 9.5 D-A9C/A9IV .
D-MOL/MILCIV D-MOC/MICIV Y5016 DEMP o2
D-MOCIW/MOCIWV | 45 | 45 | 5 | 5| 5 | 65| 6 D-MoCIW/MOIWV @BMG2-012
D-M9[JAL/M9JIAVL D-M9JAL/MO[JAVL
D-Z701/Z80 — - — 10 | 10 11 13 D-Z701/280
D-Y59[1/Y69[] D-Y5/Y7P
D-Y7P/Y7PV - | =] = 6| 5 6 8 E X - (DBMP1-032
D-Y7OW/Y7CJWV D-Y6[/Y7PV
D-Y7BAL D-Y7OOWV
D-Y7BAL

HERCTHABE, FRIEE. (RE30%EH)
REBRFHT N, HRAZLNSA.

) 2T S R E A0V BEA,
240~ 08025 D-A9IV/MILI(V)/MOTIW(V)/MOTIA(V)LELHIAE

(DBMP1-032

BESRTFEANESHMETEMIN, TREGHEF Xt RE,
ETFIEMRKIES N —-P.1719~1827,

(2BMG2-012

-

HEMSBMTTR, WESETIERL, FIP.1784, 1785,
L ¥t 1B (NC = b i) T s B 1 FF X (D-FOG, FOH, Y7G, Y7HA), 1¥MP.1746. 1748,

O

1
BT R TR RS S&sIH ARG HAE) K BEBEHEE :
D-773, Z76 e - 1
o) LY D280 HiEH LR (1) Peme— I
D-YB9A, Y69B, Y7PV T - :

D-Y7NWV, Y7PWV, Y7BWV P ERQREBR) 240~ 080
Fefiiir D-Y59A, Y59B, Y7P _ :
D-Y7NW, Y7PW, Y7BW HiEHER() LR R(REER) 1
D-Y7BAL i K M58 (26 8 7R) 1
]

-

445

Best Pneumatics 3 1

MGJ

SE|I=S|=S|=
=RIE=AIE=RIE=
MmO | S ||o

iH

-XOO





